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R()) standard reflection, R,=0,036,R,=0,900
Oslwaldcolour green G =470 A,=570 ,A¢=520
angle lightness T 1us

Ae=
570

600

00 500
wavelengthA /nm

R()\) standard reflection, Ry=0,036,R,=0,900
Ostwaldcolour cyan C,A1=400 \p=570 Aq=495
iangle lghtness T Tus

00 500 600
wavelengthA /nm

eez70-3n

70 2=57d.A¢=520

tnangle lightness  T*rug
1,001
0,754
0,50

0,251

0,0 550

0 500
wavelengthA /nm

R()) standard reflection, R,=0,036,R,=0,900
Ostwaldcolour: cyan C,A;=400 A;=570 As=495
RO\ triangle lightness  T*1ug

00 500
wavelengthA /nm
g

R(A) standard reflection, R,=0,036,R,=0,900
Ostwaldcolour: yellow Y, =495 A;=700 A4=570
RO triangle fightness 1" 1up

00 500
wavelengthA /nm

RO\
optimal colour: whlteW Ag= 400 A2=700 A
triangle lightness  T*tup

1,001

00 500 600
wavelengthA /nm
T

R(A) standard reflection, R,=0,036,R,,=0,900

Ostwaldcolour: blue B, A;=400 ,A,;=495 ,A¢=470
R(A) triangle lightness  T*7ug

00 500 600
wavelengthA /nm

R()) standard reflection, 036,Ry=0, 900
Ostwaldcolour: red R, A;=570 ,A;=700 ,
rmnqleymess True

200 _{Ry

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: green G,A;=470 A;=570 A¢=520
triangle lightness  T*1up |

00 500 600
wavelengthA /nm

R(A) standard reflection,
Ostwaldcolour magenta M,z

036,Ry=0,900
70 Ao=470 Ag=520c
triangle lightness  1-7ug

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: cyan C,11=400 A,=570 Ag=495
wiangle lightness  T*us

00 500
wavelengthA /nm

R(A) standard reflection, Ry=0,036 R=0900
Ostwaldcolour yeIIowY A1=495 \;=700 \g=570
triangle lightness T+ tup

00 500
wavelengthA /nm

R(\) 3
uptlmal colour: whlteW A1=400 ,,
RO Trangle Tghines TPryp

1,001
0,754
0,50]

0,25

00955 500 500
wavelengthA /nm

earl-A

R(A) standard reflection, Ry=0,036,R,=0,900
Ostwaldcolour: blue B, A;=400 ,A;=495 A4=470

triangle lightness T 1up
1,001

o
with N reflection
standard reflection
0,036<=R(A)<=0,900

T*rug=40log[R;(A)]/log5

R()) standard reflection, 036,Ry=0,900
Ostwaldcolour: red R, A;=570 ,; =595
R(Y) [

1,004

0,75

eez71-3n

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: green G,A,=470 A;=570 ,A¢=520
triangle lightness  T*1ug

0,8]

0 500 600

wavelengthA /nm

A

R(A) standard reflection, R,=0,036,R4=0,900

Ostwaldcolour: magenta M,A1=570 ,A,=470 \¢=520c
RO\ triangle fightness  T-1ug

1,001
0,751 A= A3

470 570
0,501

0,25

0,0

) = log[Rr (A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: cyan C,1;=400 A\>=570 A¢=495
Rs(A) triangle lightness  T*Tug.
0,8}

00 500 600
wavelengthA /nm
TioA

00 500
wavelengthA /nm

without N reflection
standard reflection
0,036<=R(\)<=0,900

T*rus=40log[Rr(A)])/logs

eez/1-7/n

Rr(A) =R())/0,18 relative reflection
Ostwaldcolour: yellow Y, =495 A;=700 A4=570
triangle lightness  T*1up

00 500
wavelengthA /nm

(A) =R(M)/0,18 relative reflection
optimal colour: white W, A;:=400 A;=700 A¢=—
triangle lightness  T*Tug

6,00]

00 500
wavelengthA /nm

Rr(A) =R())/0,18 relative reflection
Ostwaldcolour: blue B, ;=400 1;=495 A\¢=470

6,00]

3,001

triangle lightness Ty [}

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: red R, A1=570 ,A2=700 A¢=595

Rr(A) triangle lightness  T*Tup [k

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: magenta M,\=570 A,=470 A¢=520c

wriangle lightness  T*rus
6,01

0,199

Ro() = I0g[Rr (\)] = I0g[R(A)/0, 18] reflection (Iog)
Ostwaldco our: yellow Y, ;=495 A;=700 A¢=570
S triangle lightness  T*Tup
0,8F 0.698

400 500
wavelengthA /nm

0g[Rr (A)]
hite

R Iog[R()\)IO 8] reflection (log)
optimal colour: Az .

500
wavelengthA /nm

Rs(A [Rr()\)] log[R(\)/0, 18] reflection (log)
Ostwaldco lour: blue B, A;=400 ,\;=495 \4=470

mnq\nnqmno:s T

100 500
wavelengthA /nm

without N reflection
standard reflection
0,036<=R(A)<=0,900
relative reflection
R:(\)=R(A)/0,18
T*rug=40log[R;(A)]/log5

R(A) = log[Rr(A)] =
Ostwaldcolour: red R, A;=570 ,A;=700 A¢=595
triangle lightness  T*1ug

0,8]

log[R()/0,18] reflection (log)

500
wavelengthA /nm
0
Rs(A) = log[Rr(A)] = Iog[R(A)/0,18] reflection (Iog)
Oslwaldcolour magenta M,A1=570 A,=470 A¢=520c
Rs(A) triangle lightness  T*Tug.
0,8¢ 0,698

400
wavelength)\ Inm
TioA

TUB test chart eez7; Wavelength ranges Grsdwaldcolours, and WW,2C—25 1
ReflectionsR(A), Rr()\)—R()\)IO,18,Rs()\)—log[Rro\)], triangle Ilghtnesﬁ' *TuB, Step eRYGCBMnN2

standard reflection
0,036<=R(\)<=0,900
log[relative reflection]
R4(A)=log[R(A)/0,18]
T*rug=40l0g[R:(A)]/log5
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